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ERRATA

p. 1, line 6: leader - reader

p. 24, line 4: productively - productivity

p. 28, Table 20, line 1: 501.51% - 50.51 %

p. 44, line 30: Wi = Wi/Xi - Wi = Wi/Xi

p. 45, line 19: economics - economies

p. 45, Table 44: Table 43

p. 48, Table 45: Table 44; line 2, economics - economies

p. 49, Table 46: Table 44

p. 49, Table 47: Table 45

p. 52, Table 48: Table 46

p. 53, Table 48: Table 46

p. 54, Table 49: Table 47; line 3, Table 7.2 - Table 47

p. 56, Table 50: Table 48

p. 57, Table 50 line last: Table 48


